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SUBJECT CODE & NAME:-(80) Geography

| QNO ANS | QNO ANS | QNO ANS | QNO ANS |
I 1 Db 12 z s c 116 1
I 2zoa 127 B 1 os2o¢c 1T 1
I3 ¢ 128 B | 83 ¢ o178 1
| 4 c 129 B | s4 D | 79 |
I s B 130 c | 85 ¢ | 80 |
| 6 A | 31 B | S6 c | 8 |
I 7 b 132 ¢ | s b I o8 1
I 8 D I 33 A | s& A | 83 |
|9 B | 38 B | 59 A | 84 |
|10 B | 35 D | e c | 85 |
|11 0B | 36 A | e A | 8 |
12 ¢ 13 ¢ e A | o8 1
|13 B | 38 A | e B | 8 |
|14 0B | 39 c | e ¢ | 89 |
|15 b | 40 A | e ¢ | o |
|16 ¢ | 41 c | e A | 1 |
117 D 1 4 B | €& A | s |
|18 A 1 43 A | o6 ¢ I 3 |
|19 B | 48 A | 68 c | sa |
|20 b | 45 A | 70 ¢ | 85 |
|21 B | 46 A | 71 D | % |
I 22 b 147 A I 72 0D 1 91 1
|23 D | 48 A | 73 ¢ | 8 |
| 24 D | 45 A | 74 D | 85 |
I 25 b | 50 B | 75 ¢ |10 |

Z=ALL OPTIONS ARE CORRECT/ 1=A & B OPTIONS ARE CORRECT/ 2=A & C QOPTIONS ARE CORRECT/
3=A & D OPTIONS ARE CORRECT/ 4=B & C OPTIONS ARE CORRECT/ 5=B & D OPTIONS ARE
CORRECT/ 6=D & C OPTIONS ARE CORRECT/ 7=A, C & D OPTIONS ARE CORRECT/ 8=A, B & C
OPTIONS ARE CORRECT



